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(ii) Let S = {v,,vr;ffi Ue a basis for R.a. "\"
Where vl = (l,g e9,yz= (2,0,1,0), vr = (p,1,2, -1) and ve = (0, 1, -1, 0).
If v : (1,2, -6#eompute coordinate ve&$Fbf v.
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b. (i) Define a linear transformation.
(ii) Find the matrix of linear transformation.
T : Vz(R) + VeG) defined by
T(x, y) =r(x+,,y, x, 3x-y) relativ.e='io ffr'basis u,. ,'.
Br = {(1, 1), (3, 1)} and 

"r:4(_1, 
1, l), (1, 1,0), (1,0,0)}
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method of least
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x 0 I 2 3 ,l 4: 5

v 1 3 7 r&s@l 31

Also estimats.,i*&lik = 6Also estimate.y@h = 6 g%.**:' #, (10 Marks)
Find the cogeldtion coeffrcient &#the regression{inbs of y on x and x on y for the

followingdata : ".rT "'
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8 a..". ']:tt a non-linear"cftte of the form y€ aeo* to the following data from the method least
anrrqrac ,,,,,, ,,F'- ":-**;

b. If 0 is the u.rt. ."g between the two regression lines, then ,tl:Y1f},

tang=1'-t'l[ "-q-1. Explain the significance of the formula when r:0 and r: *1.
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interval (1,2)?
(iii) Also find the cumulative proba
(iv) Find E(X2) and E(4X2).
A set of five similar coins is to

10 a- Arandomvar

Two horses A and B
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level of significance.
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